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Exercise 1 (5 points) 
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Conditionally convergent 
 
 

 
Not conditionally convergent 

 

 
Absolutely divergent 
 

 
 
 

 
Divergent by Divergence Test 

 

 
Divergent by AST 

 
 

 
 
 
 

 
Exercise 2 (5points) 

The series 
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Divergent by Divergence Test 
 
 

 
Convergent by Root Test 

 

 
Divergent by Root Test 
 

 
 
 

 
Divergent by comparison Test 

 

 
Divergent by limit comparison 
Test 
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Divergent by Divergence Test 
 
 

 
Divergent by Root Test 

 

 
Convergent by Root Test 
 

 
 
 

 
Divergent by comparison Test 

 

 
Divergent by limit comparison 
Test 
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